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QUESTION 1

Why do designing and managing the test infrastructure sometimes give rise to conflict?
A. The Project Manager and Test Manager have differing interests.

B. The testers work with the same test data during the test execution.

Correct Answer: B

QUESTION 2

See the procedure flow below:

I 8
|
How many test situations are produced when the coverage type paths with test depth level 2 is used?
A.3
B.8
C.12
D. 13

Correct Answer: D
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QUESTION 3

What does a software engineer have to demonstrate at the very least during development testing?
A. That the product meets the functional specifications

B. That the product meets the non-functional specifications

C. That the product meets the technical specifications

D. That the product meets expectations

Correct Answer: C

QUESTION 4

What is the aim of the activity “assessing the test basis\\'?

A. To determine the risk of the various system components

B. To select the most suitable test design techniques

C. To determine whether the delivered system components can be tested in a useful manner
D. To establish the testability of the test basis

Correct Answer: D

QUESTION 5

The execution phase traditionally accounts for 40% of the test effort. In certain projects, this percentage may be

considerably lower.

What reasons may account for this?

A. Automating the testing process.

B. Employment of more testers.

C. Performing the tests simultaneously.
D. The useofExploratoryTesting.

Correct Answer: A
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